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(*) Instructions to candidates:

1) Answer Q.1 ORQ.2,Q.3 OR Q.4 and Q.5
2)  Figures to the right indicate full marks.
3)  Use of scientific calculator is allowed

4)  Use suitable data where ever required

Q1) a)

b)

Q.2) a)

Q.3) a)
b)

Find the center and radius of the circle
X4y 27 4 2x -2y —4z-19=0, x+2y+2z+7=0.
Find the equation of the right circular cylinder of radius 2 whose axis

whose axis lies along the straight line > N Lt Nt ;

2 -1 5 _
Find the equation of the right circular cone with vertex at (1,2.-3}, semii
\ " — —
vertical angle cos™ R and the line = L wd = B2, as axis.
NE) 2 =1

OR
Find the equation of the right circular cone which passes through the point

. (LL,2) has its axis the line 6x = -3y = 4zand vertex at origin.

Find the equation of the right circular cylinder of radius 3 whose axis
-} y-3 g=3
7 -1

whose axis lies along the straight line =

Show that the plane 2x-2y+z+12=0touches the sphere
x> +y’+2* —2x—4y+2z-3=0and find the point of contact.

o o0 —y
e
Change the order of integration and evaluate ”—dxdy
0 x y

Evaluate J-”xzyzdxdydzthroughout the volume bounded by the plane

x=0,y=0,z=02+2 421,
a

c
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[6 marks]

[6 marks]

[4 marks]

[6 marks]

[6 marks]

[4 marks]

[6 marks]

[4 marks]



)

¢)  Find the volume bounded by the cylinders y* = x,x* = yand the planes z=0 [4 marks]
and x+y+z=2.
. OR
Q.4) a) Find the total area of the curve r = a(l +cos@). ' : [6 marks]
[4 marks]
Evaluate ” dxdy , where Ris annulus between B +y =4 and
b) .
x? 4+ y? = 9.
c 4 marks
) Evaluate J.'” B dxdydz over the volume of the sphere x> + 3% + 2z =2, | !
& +y +z°
G.5) Multiple chmce questions Qox‘ 2=20 marks>

1) The solution of Differential Equation xdx +y dy =01is
(@e™-2y=c () x*+y>=c () x*—y2=c¢ (d) None of these

2) The value of E is

1 T

@ 0 () \ © 3! @ 525
3) The value of erf(x) + erfe( x) is

(@ 1 (b) 2 () -1 (d) 0
4) The value of integral j‘ e*x*dxis

0

(a) 120 (b) 24 (c) 6 (d) 720
5) The curve r = a sin 46 is symmetrical about

(a) 6=a (b) © =22£ (c¢) About pole (d) None of these

T2

6) The value of J-COS xdx
0

(a) 1 (b) g ¢y O (d) None of these

7) For the function f (x) = x? in the interval — [ < x < I, the value of b L 18
42D D4 P2 (=1 2
(@) 0 (b) 2 2 (c) (d)
n“n nn n

8) The value of erf(w ) is

(a 0 (b) 1 (c) -1 (d) None of these
9) The integrating factor for the DE j—y +y=x1is

' X

(@) e (b) log (x2+ 1) () x (d) 1+x2

r df
10) If f(x) = | G(t) dt then — i
) (%) { (t) dt then 2 is

(a) G (b) G(x) (©) x* G (x) (d) None of these



